

## A note on degenerate Changhee-Genocchi polynomials and numbers

**Hyuck-In Kwon**

*Department of Mathematics,  
Kwangwoon University,  
Seoul 139-701, Republic of Korea.*

**Taekyun Kim**

*Department of Mathematics,  
Kwangwoon University,  
Seoul 139-701, Republic of Korea.*

**Jin-Woo Park<sup>1</sup>**

*Department of Mathematics Education,  
Daegu University, Gyeongsan-si,  
Gyeongsangbuk-do, 712-714,  
Republic of Korea.*

### Abstract

In this paper, we consider the degenerate Changhee-Genocchi polynomials and numbers, and give some identities for these numbers and polynomials.

**AMS subject classification:** 11B68, 11S40, 11S80.

**Keywords:** The generalized  $q$ -Daehee numbers attached to  $\chi$ , the generalized  $q$ -Bernoulli numbers attached to  $\chi$ , the  $p$ -adic  $q$ -integral on  $\mathbb{Z}_p$ ,  $\lambda$ - $q$ -Daehee polynomials

---

<sup>1</sup>Corresponding author.

## 1. Introduction

As is well known, the Euler polynomials are defined by the generating function to be

$$\frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [2, 4]}). \quad (1.1)$$

When  $x = 0$ ,  $E_n = E_n(0)$  are called *Euler numbers*.

The *Genocchi polynomials* are defined by the generating function to be

$$\frac{2t}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} G_n(x) \frac{t^n}{n!}. \quad (1.2)$$

When  $x = 0$ ,  $G_n = G_n(0)$  are called the *Genocchi numbers* (see [2, 6, 7, 12]).

From (1.2), we note that

$$G_0 = 0, \quad \frac{G_{n+1}(x)}{n+1} = E_n(x), \quad (n \geq 0).$$

In [3], L. Carlitz considered degenerate Euler polynomials which are defined by the generating function to be

$$\frac{2}{(1 + \lambda t)^{\frac{1}{\lambda}} + 1} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \frac{t^n}{n!}. \quad (1.3)$$

When  $x = 0$ ,  $\mathcal{E}_{n,\lambda} = \mathcal{E}_{n,\lambda}(0)$  are called the *degenerate Euler numbers*.

Note that

$$\lim_{\lambda \rightarrow 0} \mathcal{E}_{n,\lambda}(x) = E_n(x), \quad (n \geq 0).$$

By replacing  $t$  by  $\frac{1}{\lambda}(e^{\lambda t} - 1)$  in (1.3), we get

$$\begin{aligned} \frac{2}{e^t + 1} e^{xt} &= \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \frac{1}{n!} \frac{1}{\lambda^n} (e^{\lambda t} - 1)^n \\ &= \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}(x) \sum_{m=n}^{\infty} S_2(m, n) \lambda^{m-n} \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m \mathcal{E}_{n,\lambda}(x) S_2(m, n) \lambda^{m-n} \right) \frac{t^m}{m!}, \end{aligned} \quad (1.4)$$

where  $S_2(m, n)$  is the Stirling numbers of the second kind.

By (1.1) and (1.4), we get

$$E_m(x) = \sum_{n=0}^m \mathcal{E}_{n,\lambda}(x) S_2(m, n) \lambda^{m-n}, \quad (m \geq 0). \quad (1.5)$$

Recently, Changhee polynomials are defined by the generating function to be

$$\frac{2}{t+2}(1+t)^x = \sum_{n=0}^{\infty} Ch_n(x) \frac{t^n}{n!}, \text{ (see [5, 8, 9, 11, 13]).} \tag{1.6}$$

From (1.6), we have

$$\begin{aligned} \frac{2}{e^t+1}e^{xt} &= \sum_{n=0}^{\infty} Ch_n(x) \frac{1}{n!}(e^t-1)^n \\ &= \sum_{n=0}^{\infty} Ch_n(x) \sum_{m=n}^{\infty} S_2(m,n) \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m Ch_n(x) S_2(m,n) \right) \frac{t^m}{m!}. \end{aligned} \tag{1.7}$$

Thus, by (1.1) and (1.7), we get

$$E_m(x) = \sum_{n=0}^m Ch_n(x) S_2(m,n), \text{ (} m \geq 0 \text{)}. \tag{1.8}$$

The degenerate Changhee polynomials (called  $\lambda$ -Changhee polynomials) are given by the generating function to be

$$\frac{2\lambda}{2\lambda + \log(1 + \lambda t)} (\lambda^{-1} \log(1 + \lambda t) + 1)^x = \sum_{n=0}^{\infty} Ch_{n,\lambda}(x) \frac{t^n}{n!} \text{ (see [10]).} \tag{1.9}$$

When  $x = 0$ ,  $Ch_{n,\lambda} = Ch_{n,\lambda}(0)$  are called  $\lambda$ -Changhee numbers.

In view of (1.2), we construct degenerate Changhee-Genocchi polynomials and numbers and investigate some properties of these numbers and polynomials in this paper.

## 2. Degenerate Changhee-Genocchi numbers and polynomials

Now, we consider the *degenerate Changhee-Genocchi polynomials* which are given by the generating function to be

$$\frac{2\lambda \log(1 + \lambda^{-1} \log(1 + \lambda t))}{2\lambda + \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!}. \tag{2.10}$$

When  $x = 0$ ,  $CG_{n,\lambda} = CG_{n,\lambda}(0)$  are called *degenerate Changhee-Genocchi numbers*.

Note that

$$\lim_{\lambda \rightarrow 0} \frac{2\lambda \log(1 + \lambda^{-1} \log(1 + \lambda t))}{2\lambda + \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x = \frac{2 \log(1 + t)}{1 + t} (1 + t)^x.$$

Now, we define *Changhee-Genocchi polynomials* as follow:

$$\frac{2 \log(1+t)}{2+t}(1+t)^x = \sum_{n=0}^{\infty} CG_n(x) \frac{t^n}{n!}. \quad (2.11)$$

Thus, we note that  $\lim_{\lambda \rightarrow 0} CG_{n,\lambda}(x) = CG_n(x)$ . By replacing  $t$  by  $\frac{1}{\lambda}(e^{\lambda t} - 1)$  in (2.10), we get

$$\begin{aligned} \frac{2 \log(1+t)}{2+t}(1+t)^x &= \sum_{l=0}^{\infty} CG_{l,\lambda}(x) \frac{1}{l!} (e^{\lambda t} - 1)^l \lambda^{-l} \\ &= \sum_{l=0}^{\infty} CG_{l,\lambda}(x) \lambda^{-l} \sum_{n=l}^{\infty} S_2(n, l) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{l=0}^n S_2(n, l) \lambda^{n-l} CG_{l,\lambda}(x) \right) \frac{t^n}{n!}. \end{aligned} \quad (2.12)$$

By (2.11) and (2.12), we get

$$CG_n(x) = \sum_{l=0}^n S_2(n, l) \lambda^{n-l} CG_{l,\lambda}(x), \quad (n \geq 0). \quad (2.13)$$

From (1.2), we note that

$$\begin{aligned} &\frac{2 \log(1 + \log(1 + \lambda t))^{\frac{1}{\lambda}}}{2 + \log(1 + \lambda t)^{\frac{1}{\lambda}}} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^x \\ &= \sum_{n=0}^{\infty} CG_n(x) \frac{1}{n!} \left(\frac{1}{\lambda} \log(1 + \lambda t)\right)^n \\ &= \sum_{n=0}^{\infty} CG_n(x) \sum_{m=n}^{\infty} S_1(m, n) \lambda^{m-n} \frac{t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m CG_n(x) S_1(m, n) \lambda^{m-n} \right) \frac{t^m}{m!}, \end{aligned} \quad (2.14)$$

where  $S_1(m, n)$  is the Stirling numbers of the first kind.

Therefore, by (2.10) and (2.14), we get

$$CG_{n,\lambda}(x) = \sum_{n=0}^m CG_n(x) S_1(m, n) \lambda^{m-n}, \quad (m \geq 0). \quad (2.15)$$

It is not difficult to show that

$$\sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!} = \left( \sum_{l=0}^{\infty} CG_{l,\lambda} \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} \binom{x}{m} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^m \right). \tag{2.16}$$

Now, we observe that

$$\begin{aligned} \sum_{m=0}^{\infty} \binom{x}{m} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^m &= \sum_{m=0}^{\infty} (x)_m \frac{1}{m!} \lambda^{-m} (\log(1 + \lambda t))^m \\ &= \sum_{m=0}^{\infty} (x)_m \lambda^{-m} \sum_{k=m}^{\infty} S_1(k, m) \lambda^k \frac{t^k}{k!} \\ &= \sum_{k=0}^{\infty} \left( \sum_{m=0}^k (x)_m \lambda^{k-m} S_1(k, m) \right) \frac{t^k}{k!}. \end{aligned} \tag{2.17}$$

By (2.16) and (2.17), we get

$$\begin{aligned} \sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!} &= \left( \sum_{l=0}^{\infty} CG_{l,\lambda} \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} \binom{x}{m} (\log(1 + \lambda t)^{\frac{1}{\lambda}})^m \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \sum_{m=0}^k (x)_m \lambda^{k-m} S_1(k, m) \binom{n}{k} CG_{n-k} \right) \frac{t^n}{n!}. \end{aligned} \tag{2.18}$$

By comparing the coefficients on the both sides of (2.18), we get

$$CG_{n,\lambda}(x) = \sum_{k=0}^n \sum_{m=0}^k (x)_k \lambda^{k-m} S_1(k, m) CG_{n-k} \binom{n}{k}, \tag{2.19}$$

where  $n \geq 0$ .

Now, we observe that

$$\begin{aligned} \log(1 + \lambda^{-1} \log(1 + \lambda t)) &= \sum_{m=1}^{\infty} \frac{(-1)^{m-1}}{m} \lambda^{-m} (\log(1 + \lambda t))^m \\ &= \sum_{m=1}^{\infty} \frac{(-1)^{m-1}}{m} \lambda^{-m} m! \sum_{k=m}^{\infty} S_1(k, m) \lambda^k \frac{t^k}{k!} \\ &= \sum_{k=1}^{\infty} \left( \sum_{m=1}^k \frac{(-1)^k}{m} m! \lambda^{k-m} S_1(k, m) \right) \frac{t^k}{k!} \\ &= \sum_{m=1}^{\infty} \left( \sum_{m=1}^k (m-1)! (-1)^{m-1} \lambda^{k-m} S_1(k, m) \right) \frac{t^k}{k!}. \end{aligned} \tag{2.20}$$

From (1.8), (2.10) and (2.20), we have

$$\begin{aligned} \sum_{n=0}^{\infty} CG_{n,\lambda}(x) \frac{t^n}{n!} &= \frac{2\lambda \log(1 + \lambda^{-1} \log(1 + \lambda t))}{2\lambda + \log(1 + \lambda t)} (1 + \lambda^{-1} \log(1 + \lambda t))^x \\ &= \left( \sum_{l=0}^{\infty} Ch_{l,\lambda}(x) \frac{t^l}{l!} \right) \left( \sum_{k=1}^{\infty} \left( \sum_{m=1}^k (m-1)! (-1)^{m-1} \lambda^{k-m} S_1(k, m) \right) \frac{t^k}{k!} \right) \quad (2.21) \\ &= \sum_{n=1}^{\infty} \left( \sum_{k=1}^n \sum_{m=1}^k (m-1)! (-1)^{m-1} \lambda^{k-m} S_1(k, m) Ch_{n-k,\lambda}(x) \binom{n}{k} \right) \frac{t^n}{n!}. \end{aligned}$$

By (2.10), we easily get  $CG_{0,\lambda}(x) = 0$ . Comparing the coefficients on the both sides of (2.21), we have

$$CG_{n,\lambda}(x) = \sum_{k=1}^n \sum_{m=1}^k (m-1)! (-1)^{m-1} \lambda^{k-m} S_1(k, m) Ch_{n-k,\lambda}(x) \binom{n}{k}, \quad (2.22)$$

where  $n \in \mathbb{N}$ .

Note that

$$\begin{aligned} \lim_{\lambda \rightarrow 0} CG_{n,\lambda}(x) &= \sum_{k=1}^n (k-1)! (-1)^{k-1} Ch_{n-k,\lambda}(x) \binom{n}{k} \\ &= CG_n(x), \quad (n \in \mathbb{N}). \end{aligned}$$

From (2.12), we have

$$\begin{aligned} \frac{2t}{e^t + 1} e^{xt} &= \sum_{m=0}^{\infty} \left( \sum_{l=0}^m S_2(m, l) \lambda^{m-l} CG_{l,\lambda}(x) \right) \frac{1}{m!} (e^t - 1)^m \\ &= \sum_{m=0}^{\infty} \left( \sum_{l=0}^m S_2(m, l) \lambda^{m-l} CG_{l,\lambda}(x) \sum_{n=m}^{\infty} S_2(n, m) \right) \frac{t^n}{n!} \quad (2.23) \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \sum_{l=0}^m S_2(m, l) \lambda^{m-l} S_2(n, m) CG_{l,\lambda}(x) \right) \frac{t^n}{n!}. \end{aligned}$$

From (1.2) and (2.23), we have

$$G_n(x) = \sum_{m=0}^n \sum_{l=0}^m S_2(m, l) S_2(n, m) \lambda^{m-l} CG_{l,\lambda}(x), \quad (2.24)$$

where  $n \geq 0$ .

Note that

$$\begin{aligned}
 G_n(x) &= \lim_{\lambda \rightarrow 0} \sum_{m=0}^n \sum_{l=0}^m S_2(m, l) S_2(n, m) \lambda^{m-l} C G_{l, \lambda}(x) \\
 &= \sum_{m=0}^n S_2(n, m) C G_n(x).
 \end{aligned}
 \tag{2.25}$$

By (2.14), we get

$$\begin{aligned}
 &\frac{2t}{e^t + 1} e^{xt} \\
 &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m C G_n(x) S_1(m, n) \lambda^{m-n} \right) \frac{1}{m!} \lambda^{-m} (e^{\lambda t} - 1)^m \\
 &= \sum_{m=0}^{\infty} \left( \sum_{n=0}^m C G_n(x) S_1(n, m) \lambda^{m-n} \right) \sum_{k=m}^{\infty} S_2(k, m) \lambda^{k-m} \frac{t^k}{k!} \\
 &= \sum_{k=0}^{\infty} \left( \sum_{m=0}^k \sum_{n=0}^m C G_n(x) S_1(n, m) S_2(k, m) \lambda^{k-n} \right) \frac{t^k}{k!}.
 \end{aligned}
 \tag{2.26}$$

Thus, by (2.26), we get

$$G_k(x) = \sum_{m=0}^k \sum_{n=0}^m C G_n(x) S_1(n, m) S_2(k, m) \lambda^{k-n}, \quad (k \geq 0).$$

### References

- [1] A. Bayad, *Modular properties of elliptic Bernoulli and Euler functions*, Adv. Stud. Contemp. Math., **20**, (2010), no. 3, 389–401.
- [2] A. Bayad, T. Kim, *Identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., **20**, (2010), no. 2, 247–253.
- [3] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math., **15**, (1979), 51–88.
- [4] D. S. Kim and T. Kim, *Some identities of higher order Euler polynomials arising from Euler basis*, Integral Transforms Spec. Funct, **24**, (2013), no. 9, 734–738.
- [5] D. S. Kim and T. Kim, *A note on Changhee polynomials and numbers*, Adv. Stud. Theor. Phys., **7**, (2013), no. 20, 993–1003.
- [6] T. Kim, *On the multiple q-Genocchi and Euler numbers*, Russ. J. Math. Phys., **15**, (2008), no. 4, 481–486.

- [7] T. Kim, *Some identities for the Bernoulli, the Euler and the Genocchi numbers and polynomials*, Adv. Stud. Contemp. Math., **20**, (2010), no. 1, 23–28.
- [8] T. Kim, D. V. Dolgy, D. S. Kim and J. J. Seo, *Differential equations for Changhee polynomials and their applications*, J. Nonlinear Sci. Appl., **9**, (2016), 2857–2864.
- [9] T. Kim and D. S. Kim, *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys., **23**, (2016), no. 1, 88–92.
- [10] T. Kim, D. S. Kim, J. J. Seo and H. I. Kwon, *Differential equations associated with  $\lambda$ -Changhee polynomials*, J. Nonlinear Sci. Appl., **9** (2016), 3098–3111.
- [11] H. I. Kwon, T. Kim and J. J. Seo, *A note on degenerate Changhee numbers and polynomials*, Proc. Jangjeon Math. Soc., **18**, (2015), no. 3, 295–305.
- [12] C. S. Ryoo, *Calculating zeros of the twisted Genocchi polynomials*, Adv. Stud. Contemp. Math., **17**, (2008), no. 2, 147–159.
- [13] N. L. Wang and H. Li, *Some identities on the higher-order Daehee and Changhee numbers*, Pure Appl. Math., **4**, (2015), no. 5-1, 33–37.